
18 91) -+-=~
63 9 7

2) 26 + ~ = II
32 2 16

3) 42 + 2. = 1.
48 6 8

4) yes

5) yes

6) 36 +...§....= 44 = 11
72 72 72 18

20 6 26 13
7) 30 + 30 = 30 = 15.
8) R+ 2.= £

42 6 7·

4 4 1
9) 20 +'4 = 5"

10) ...§....+ 28 = 8 + 28 = JL = g,
32 32 1 28 7

11) !§. + 24 = 18+ 24 = .!.§.= 1
36 36 1 24 4

12) 90,524

13) 1,110,420

14) 2,595,915

15) .1.§..+2.=1.
30 6 5

500 + 5 = 100; 100 x 3 = 300

16) ~~ > ~~ more sopranos

17) 16x12=192;192+3=64

18) 3/4 of 64 = $48

19) 1£ + ..§... = 12 + 6 = 2
18 18 1

20) 1 +.1. = 1 +1£ =..1..
3 1 3 3 12

13A
1)

2)

done

45
/\

3 15
/\
3 5

1

1) 100
/\

2 50
/\

2 25
/\

5 5

1

1)
/~

2 10
/\

2 5

81
/\

3 27
/\

3 9
/\
3 3

(J)
o
c-o·
::::'l
(Jl

3) 30
/\

2 15
/\
3 5

2) 32
/\

2 16
/\

2 8
/\

2 4
/\

2 2

2)

3) 52
/\

2 26
/\

2 13

4) 2 x 3 x 11

5) 2 x 2 x 11

6) 2 x 2 x 2 x 2 x 5

7) 20 _ ~x ~x 5 _ §.
24 - R x ~x 2 x 3 - 6

8) 30_ ~x~x5 _..2.
36 - ~ x2 x~ x 3 - 6

9) 48 = ~ x2 x2 x2 x~ = .§.
54 ~x~x 3x3 9

10) JL= ~x~ =1
27 3x~ x~ 3

11) .1.§.=3x5.=1
25 5 x5 5

12) 1£=2x2x~=.1.
15 '3x5 5

I\)
11

-"tvo

4) done

5)

6)

7)

8)

3x3x3

2x5x5

done

20 = 2 x 2 x 5 = ~ x ~ x§.= ..2.
28 2 x 2 x 7 2 2 7 7

9) 30 = 2 x 3 x 5 = £ x ..2. x 1. = 1
50 2 x5 x5 2 5 5 5

21 3x 7 3 7 7
10) 33=3x11='3x11=11

11) .!.§.= 2x3x3 =~x3x3=JL
26 2 x 13 2 13 13

12) 24=2x2x2x3=£x1.x2x2=.1
54 2 x 3 x 3 x 3 2 3 3 x 3 9

3) 72
/\

2 36
/\

2 18
/\

2 9
/\
3 3

4) 2 x 2 x 2 x 2 x 3

5) 2 x 2 x 7

6) 2 x 3 x 7

7) 45 = 3 x-3 xl5 = 1. x ..2. x 1. = 1
75 3 x5 x5 3 5 5 5

8) 42_ :2x3'x7' _
60 - 2 x2 x 3 x5 -
~x1x_7_=J.....
2 3 2 x5 10

9) done

10) 33= 3xJ.1 =1..
44 2 x 2 xY1 4

11) 40=~x2x2xZ=.1.
90 2'x 3 x 3 x.B' 9

12) 27 = .Bx 3 x 3 = JL
48 2x2x2x2x,3 16
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1) 2 x 13

2) 2 x 2 x 3 x 5

3) 2x;2x2x3

4) .1.§.- ?x~x3 -~
24 -? x2 x2 x~ - 4,

5) .1§..= ~ x5. = 1
30 2 x~x5: 2

6)"-JL + ~ = .1§.+1.§.= 1.
, 32 32 32 16 2/

7}--' lQ- JL=.L+ ~ = 1
16 16 16 28
6 7 13'

8) 21+21= 21
2 .6 2+6 2 2 1

9) 12 -s- 12 = -1- = 6" +2 = "3
10) .2.x]'=li+~="§'

v 9 7 63 3 21

8 3 24 4 611) -x-=-+-=-
11 4 44 4 11

12) done

13) 8
17853

11
14) 26 189

15) 1/6x12=2

3 1 24 4 28. 4 7
16) '4+8"= 32 +'32= '32~'4= 8"

17) 2,845.;-5 = 569'

18) 528 x 73 = 38,544

13E

1) 3x3x3x3
2) 2 x 3 x 3 x 5
3) 3 x 5 x 5
4) ..§...=?'x2x2=.±.

22 ? x 11 11

5) 32=?x?x?x?x2=£.
48 ? x? x? x? x 3 3

6 4 10 2 5
6). 12+12 = 12 +2 = 6"
7) .1.§._lL = JL + .It= 1

27 27 27 9 3

30 5 35. 5 7
8). 50 + 50 = 50 -r- "5 = 10

) 1.§.~48 _ 16+48 -1£.~1§.-1
, \ 6.4 . 64 - 1 - 48 . 16 - 3

") '5 2 10 2 5
10 9" x 6" = 54 + 2 = 27

11~ ~x],=.2..+~=~
5 4 20 2 10

12) 30 < 32
48 48

7 6
13) 21>21

14) 40 = 40
80 80

15) 29 28 or 29.11.
38 19

2 116) 12222 or 12211

9717) 21235

18) 45 x 365 = 16,425

19) ~ ~= 27
36 + 36 36

27 . 27 60 1,620 .
20) 36 of 60. 36 x-1 = ~ = 45 min.

3/4 of 60: 60.;-4 = 15; 15x 3 = 45
The reduced fraction is easier to use.

13F 14A
1) done

2) 1-
10

3) ~
3

4) ],
7

en
o
c-o·
:::l
(f)

-I.

UJo
-I.

.p..
»

1) 2x2x2x2x2x2

2)

3)

4)

2x2x2x2

3x3x5

81 ~x~x3x3 9
90 = 2 x~ x~ x 5 = 10

5) 11.= ~ x2 x~ = £.
18 ~x~x3 3

18 8 26. 2 13
6) 48 + 48 = 48 -r- 2 = 24

7) 45 _ 20 = 25 + 25 = 1
50 50 50 25 2

12 6 18. 6 3
8) 24 + 24 = 24 -s- 6"='4

5) done

6)
I I I I I I

7) done

8) 11.- 3
16 -"4

9) 1
8

6= ~

10) ~
16

11) .11.- 7
16 -8'

12) lQ - 516 - 8'

9) lQ + 20 = 10+ 20 = .1Q.+ lQ =1
50 50 1 20 10 2

4 2 8 8 110) -x-=-+-=-
7 8 56 8 7

11) "§"'x~=li+li=1
12 5 60 15 4

60 77
12) 110 < 110

9 16
13) 36 < 36

14) .1§..>R
36 36

15) 37 69 or 37~
96 32

16) 98 38
73

17) 56.111 or 56 37
120 40

18) 2,075.;-25 = 83

6 3 9 1
19) 18+18 = 18 = 2

1+1=..§...+.L=lQ=.2.
2 8 16 16 16 8

8 5 320) ---=-888


